TIME : 3.00 Hrs

Note : Answer ALL the questions : |

1. If there are 1024 relations from a set A = (1, 2 3, 4, 5}5
elementsinBis a) 3 B2 r:
If the order pairs (a+2, 4) and (5, 2a+b) are equal then
a) 2.-2) b) (5,1) c) (2 3) «  Hd)i(3:-2)
If the HCF of 65 and 117 is expresslble in the form of 651
a4 b2 o1 d3 SETER )
Sum of the first n terms of the series /2 +J_ +J_ e

a)1 b) Jn o "("; -

a)3 b4 ©)2 d)5 OIS
e W TR (¢
y +y—2 is not equal to‘,a)’ y2

.. The sum and product of the roots
dratic equationis '
a) ¥+9x+14=0
In a AABC, AD is the bi
length of the side AC
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+ Answer any 10 questions. Q. N ‘ ";ku,LLLj”fl "j ' 10x 2=
) - | ‘ A

¥ 8 ' |'|le
L '-L. I i ~'. 1

| R
p +6 : i
19, Find the excluded values of the expreaslon ‘-2 _‘-',_-" u

20, Determine the nature of roots for the quadratic aquatlnna 9x'-2 1\-'6‘:?0'.‘ 7 P
cosf 0 sin@ 0) ' u Rl
A A=0 cosp) @nd, B = 0 sing then prove that A +B’-I E

22. In AABC, DE || BC, AD = x, DB=x-2, AE=x4+2 and EC= ».g-l then' ﬂnl
sides AB,

23. If the area of the triangle formed by the verticee A( 1.2). B(k, -2) and
Find the value of k

}A Find the angle of elevation of the top of the’ towar from a polnt qn he g }Q‘m d, whi

away from the foot of a tower of height 10/3m i A S

25, Prove that sin’A cos’B + cos’A sin’B + cos’ A cos‘ B + afn’A

26, Four persons live in a conical tent whose slant holght ll 1! 9 cm, If
84.cm of the floor area, then find the height of the tgn

) nSeanpner
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o ¥ 2? Find the range and coefficient of range of the following dm 25 67, 43 53 ﬂpiﬁ,; :

L .f % 23 Express the sample space for rolling two dice uslng trn dlmrqm o i e

‘ PART -l (erlu - 50)
& ~ Note : Answer TEN questlons Q.No.42 is compulsory .
: 9. Let A = The set of all natural numbers less than 8, B = The set of all prime ntlm
than 8, C = The set of even prime number. Verlfy thatA X (B -C)=(AxB)- (
30. The sum of the first », 2n and 3n terms of an A. P are S, S and S mpedwdyﬁ
$,=3(8,-8) . : ol
31. Find the sum of the series (25 - 19) + (42~ 3)+(85- 554, to interms
ﬁ Find the square root of 28%6%9761*’-—684*4-3& : ‘-'5‘7.% (y.f-r), ;:_{,’ 94

33. A passenger train takes 1 hr more than an express train to travela dis ;
Chennai to Vrudhachalam The speed of passer{gar train is Iess tha

1. 1750

A 2SO B=|1 2uiifsrne e e |

I A=l gjand”"|" < |then, v_erifythat(AB)z‘"‘
‘ 5 : P T

35. State and Prove Phythagoras theorérh '

36. In the figure, quadrllateral smmmlng pool shown iss
area of patio. D(-10,6)

37. From a window (h meters high abo
elevation and depression of the top and
street are @, and 4, respéctlvely;_ Show

v ¥
o 14 24%
cotd,
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42.

.Fndﬂ\ecoeﬂiuentofvariaﬁonofssmﬂu,%ﬁ“&p T .
. In a class of 50 students, 280ptedforNCC 300ptedforNSSand1aopbdboﬂ‘lWéﬂ

CBSEtlps N

-{‘d"nr g

.

ﬁd‘mmzaﬂ.

MOfrtstohllurheelm F‘ndmeréGMAndhalghtafﬁwimncyhdar

NSS. One of the students is selected at random. Find the probabllltyﬂ‘lat
i) The student opted for NCC but not NSS Lt

i) The students opted for NSSbutnotNCC T
iii) The students opted for exactely one of them. v o ip et

The function ‘? which maps temperature in Celcius (C) uﬁotemperature in Fahrenheit (F) : h
: 3 3 ’ :
is defined by t(C) = F, where F ;EC +32 Find = "5, 4 =

() t0) (i)t(28) (iii) t(-10) (iv) the value of C when t(C)=212
(v) the temperature when the Celsius value is equal'io the Fahrenheit value.
PART - IV (Marks - 16)

Note : Answer both questions. ' ] ; z;s- 6

43

44. (a) Draw the graph of y = ¥-5x-6 and hence solve ¥*-5x-14 = O(OR]

(2) Draw a triangle ABC of base BC = 5.6cm, ZA = Wawmebhemdam
at D such that CD =4 cm. (OR) 7 - 4
(b) Draw a circle of radius 4.5cm. Take a point on the circle. Draw the tang
using the alternate segment theorem. : ; '

(b) Draw the graph of xy = 24, x,y > 0. Using the gmph ﬁnd
i)ywhenx=3and ii)xwheny=6. '

Kindly send me your questions and answerkeys to us : Pagﬁ%ﬁﬁf?&gf@%ﬂf%’?ﬁr


https://www.padasalai.net/
https://www.padasalai.net/

